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o LO—Fk : BHROEEHHIHESHETES
fid ( (E3:),
{ = "Sumii",
“Eijiro",

- 20 }
« KITY I : EROBOENN—
BRIl ( CERY)

datatype Int _or_error =
of int |




¥ (pair, tuple)
G
o INILNEESTHDEFHG.
WL 21— K
- val t = ("Sumii™
val t = ("Sumir™,"
string * string *
- #1 t ;
val 1t = "Sumii' : string
- #2 t ;
val 1t = "Eijiro" : string
- #3 t ;
val 1t = 20 :© Int
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an=00ZROIFhs=EOLI—KR{}
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- BENNRIENTFRGFRINICHIT,
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o RUUTLNONR—202 1 F 7
datatype I1tree =

ILeaf of Int
INode of { left : Itree,

right :© 1tree } ;
ILeaf of Int | INode of
{left:1tree, right:itree}
fun 1sum t = T

isum (#left r) +
isum (#right r) ;
iIsum = fn - 1tree -> Int

<
=)
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INR—22TF 7
S
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fun Isum t = case t of

ILeat 1 => 1
| INode
isum I + 1sum r ;

iIsum = fn - 1tree -> 1Int

<
o 2

5

o', 20)
20)

=> g2 N """
val 1t = "Erjiro Sumii"™ :© string
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INR—22TF 7
S
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fun 1sum t = case t of
ILeaf 1 => 1
| INode { left = I, right = r } =
isum I + 1sum r ;

iIsum = fn - 1tree -> 1Int

"Don't care"
(EATERIY)
BRINIZ—2

", "Engiro’, 20) ;
","Eijiro",20)
> string * string * iInt
- case t of (s1, s2, ) =>s2 ~ "™ "
val 1t = "Er1jiro Sumii"™ :© string

<
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INR2—=22 9 F7 (RE)
S
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fun fib n = case n of
=> (0
-~ 1 EDZDITHTIEELLGLES

=> fib (n - 1) + fib (n - 2) ;
val fib = fn : 1Int -> Int

o BE INR—4TF 713
RN ERICEESChd D2CEETED
fun fib 0 = O

| fib 1 1
| fib n = fib (n - 1) + fib (nh - 2)
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1. BEEEEIDIANiItree
2. RFNEFTEEDI DARstree

. FENNERRARERET D Rrtree
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- datatype i1tree = lLeaf of Int

= | INode of 1tree * i1tree ;

datatype 1tree = lLeaf of Int | INode of
itree * 1tree

- datatype stree = SLeaf of string

= | SNode of stree * stree ;

datatype stree = SLeaf of string | SNode of
stree * stree

- datatype rtree = RLeaf of real

= | RNode of rtree * rtree ;

datatype rtree = RLeaf of real | RNode of
rtree * rtree




FORNSHEN (BESK) THS
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- datatype "a tree =
= Leaf of "a | Node of "a tree * "a tree ,;
datatype "a tree = Leaf of "a | Node of "a
tree * "a tree
fun size t = (* HiBLTEZ %KM ~)
case t of
Leaf =>1
| Node(tl, t2) => size tl + size t2 ;
val size = fn : "a tree -> Int
- si1ze (Node(Leaf 3, Leaf 5)) ;
val 1t = 2 . Int
- si1ze (Node(Leaf true, Leaf false)) ;
val 1t = 2 - Int




ahen D . |

1

.ANode(Leaf 3, Leaf 5)&Node(Leaf
true, Leaf false)O)®F. ENENMICH
2N, ENHSF.

 Bfistring treelcdd&FH R E=2%[T

&
e string tree&streclFRIOBGATRZEDITSF

R Node(Leaf 3, Leaf "abc™) Q:f(li%i{d+

C. BREEFE S

.sizehil, 3, 10ICTF B FH RO, —OF

2. ENENESRICTISHIE,
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&0 "a trecBOfEZRI1E - T,
€N hDiLeaflc >~ EHtruer,
Nodelg » IS false®iRd Rk

is leafZEFHE &F.




SRR D . 3

optionBE&I[F.
datatype "a option =
SOME of "a | NONE

EERINLCSIHT—2ETH S,
pIBO)T—2®int or errorOMhitlic,
optionB%ZMIVT, pIBIOMy div¥)

my modIC{HE T DREHEEFE .
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[3\;, 3V, R, . 3]
o ZHT—RBO—EEHGESD

datatype "a list =
nil  2alRK+ *)
| :: of "a * "a list
(* &R RE. BUAIRME
iGITIE / — K (constaIl) *)




7l

e
- [1, 2, 3] ;
val 1t = [1,2,3] - iInt list
- [true, false]
val 1t = [true,false] : bool list

- L

val 1t [] : "a list
- nil
val 1t =
-1 ::[2, 3] ;

val 1t = [1,2,3] : iInt list

- true :: false :: [] ;

val 1t = [true,false] : bool list

[] : "a list




: &E =219

-1 :-: [2, 3] ;

val 1t = [1,2,3] : Int list

- [1. 2] :=: [3, 4] ;

stdIn:2.1-2.17 Error: operator and
operand don"t agree [literal]

&E Z1E59 0l

- [1, 2] @ [3, 4] ;
val it = [1,2,3,4] - int list
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. &E (BROK) NITHS
&0, BORGIIRIE
40FIT&F.

2. 123 :: x&"abc" :: x0)
EWNHNRXIFEES DM ?




HRAKOINR—22 2 F 7
e
o | R R ESHT—REO—1EG
AT, K= 4FTHME
Z

fl
fun length x =
case x of
nil => 0
| -y =1+ length vy
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ROBZAICEDZE, "a treeBiO)
Bt RIBAEFROUTC a 1istBO
BICEIRTG 5RKIsZEERHRE &.

— thiLeaf xOWE->1EH. xOHeTH
EFd. EX101]| 2R %IRRT,

- thiNode(l,r)AE > 5. EORFI
:)Egﬂﬁ-ﬁ%é:‘ BORrOERERE &
293,




PR 5. 6 (optional)

BEfE RNV, v, vs, ..., v,12RHER - T,
ENENOBRFRICTEBRUEIIRK

[f v, F v, T v, ..., Fv]ERT,
EVSBEnapeER. FE. €0BEEEHS.




PR 5. 7 (optional)

AR D. 6 CEFRUICEI&map&

# 3B O RE composelc 1T,
(EFRO R <A SFURKFEICH.
map (compose f g) x&

(map g (map T x))ORLI{ED
(ELdF) FLI\CEE,
xORXICHAT ¥ FIBMNETTE.




